. Period Date
Unit 1 Math and Measurement

The SI base unit for the measurement of mass isthe
A. ounce L meter

B. kilogram D. liter

is the prefix meaning one-hundredth. . (A
A. centi- B. kilo- C. deci- D. miﬂ:-?'

i A balance is used to measure the of an object
A. mass B. speed C. length D.

following sets of measurements of this rod could be consi
accurate?

A. 22.5cm, 22.7 cm, 22.6 cm
B. 12.6 cm, 22.6 cm, 32.6 cm
C. 20.1 cm, 20.2 cm, 20.1 cm
D. 24.6 cm, 23.7 cm, 25.9 cm

ﬁ \ Density can be measured in______
A. g/fcm? B. gfs o

L The term accuracy, when used in meas
following?
A. the amount of uncertainty in the m
B. the closeness of mcaau.tcm:ni‘n to
C. the reproducibility of the measu
D. the closeness of the measuremen
¥ e
The base unit of length in the Sl 5
A. millimeter B. meter

How many significant digits are there in the follo
2 - L

= 344 lbs. -
_% 0987 g v
- 3.405 m

2. 0.00064 L
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The density of table salt is 2.164 g/mL. Wh
.
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to be 35.70 mL. The mass of the

substance is 147.2 grams. The literature value of density for the substance is 4.03 g/mL.

What is the percent error of the density value the Wm“““bmmi____.__ il
i - L ™" L1

4129 4 129, L 412903 ) 5p = [2.81 T ErE

35,710 g B R '.-“wh- at is the
The density of a liquid is 1.59 g/mL. The volume of the liquid is Ejiml.-_ ha _.1_1 “
mass of the liquid? A z | = &b .- . 3
D» M 1593 = 1593 -342mb = |9+ F SN
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hdwiﬁr'am is 0.1 g. Name the following quantities using the appropriate SI base units and
prefixes. . ;
PO O AT 0.001 g W VD AYVAITY 1000 g
WL 0.01 m milloe e 0.001m . SIS

Do the following conversions:
5 liters to centiliters

12.7 g to kilograms
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How many mm are in 3.4 km?
e 4 > 2400 m ~—5}5ffDJ
What is the number of seconds in an 8 hr workday? :
:;* } _,.1_ Ry : s 3 N - - -.
” : il _;._.bi%ﬂ@ -
How many feet are in 2.36 km? (1 in = 2.54 cm)?
- ‘.‘L { 1 rry . '.:-.i" T—,.. I
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Write the following hﬁ:ﬁb&r& in ;t?ﬁ?:lard 2"5'
significant digits.

105\t ]V 23453.64
L X N 10002
L~ 0.0032
— 4325x103
410 ' 0.0023x 104




